#### ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

#### **TABULATION OF BIDS**

#### **CONTRACT # 2025043**

	TRACS No.		Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
017	YV 252	F075801C	017-A-(264)T	104410	YAVAPAI	NORTHWEST	10		Jesmin Farhana

Highway Termini Location Work Description	
-------------------------------------------	--

<sup>•</sup> CORDES JCT-FLAGSTAFF HIGHWAY (I-17) • Sunset Point to SR 69

PAVEMENT REHABILITATION

#### Printed: 8/25/2025 Page 1 of 8

#### **BID RESULTS FOR 2025043**

Bid Opening Date: 7/18/2025, Prequalification Required, Engineer Specialist: Jesmin Farhana

#### **Completion Date:**

#### 125 Working Days

The proposed project is located The proposed project is located in Yavapai County on I-17, from Milepost (MP) 252 to MP 262, south of the City of Flagstaff. The work consists of pavement rehabilitation. The work includes milling asphalt concrete and repaving with Stone Matrix Asphalt (SMA) of travel lanes, removing and replacing guard rails, pavement marking, seeding and other related work.

Bid Rank	Compared To Department Estimat Option	n # Bid Amount	Contractor	Extended Sum of Items
	+%	\$6,975,979.00	DEPARTMENT ESTIMATE	\$6,975,979.00
1	-6.6%	\$6,514,571.84	ASPHALT PAVING & SUPPLY, INC. 2425 NORTH GLASSFORD HILL RD PRESCOTT VALLEY, AZ 86314-	\$6,514,571.84
2	-3.8%	\$6,712,000.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$6,712,000.00
3	+10.9%	\$7,739,363.05	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$7,739,363.05
4	+31.8%	\$9,197,687.85	PAVECO, INC. P.O. BOX 1067 SUN CITY, AZ 85372-	\$9,197,687.85

Winning Bidder is 6.6% Under Department Estimate (Difference = (\$461,407.16))

# Printed: 8/25/2025 Page 2 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020083	SQ.YD.	REMOVE BITUMINOUS PAVE	MENT (MILLING) (2")			
Bid Rank	Department E	Stimate	279,614.000	\$2.000	\$559,228.00	
1	ASPHALT PA	VING & SUPPLY, INC.		\$2.100	\$587,189.40	+5.0%
2	FANN CONTI	RACTING, INC		\$2.300	\$643,112.20	+15.0%
3	FNF CONSTR	RUCTION, INC.		\$2.200	\$615,150.80	+10.0%
4	PAVECO, INC	D		\$2.500	\$699,035.00	+25.0%
2020116	EACH	REMOVE (BCT)				
Bid Rank	Department E	Estimate	4.000	\$200.000	\$800.00	
1	ASPHALT PA	VING & SUPPLY, INC.		\$900.000	\$3,600.00	+350.0%
2	FANN CONTI	RACTING, INC		\$800.000	\$3,200.00	+300.0%
3	FNF CONSTR	RUCTION, INC.		\$1,000.000	\$4,000.00	+400.0%
4	PAVECO, INC	D		\$3,500.000	\$14,000.00	+1650.0%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department E	Estimate	70.000	\$750.000	\$52,500.00	
1	ASPHALT PA	VING & SUPPLY, INC.		\$400.000	\$28,000.00	-46.7%
2	FANN CONTI	RACTING, INC		\$600.000	\$42,000.00	-20.0%
3	FNF CONSTR	RUCTION, INC.		\$555.000	\$38,850.00	-26.0%
4	PAVECO, INC	D		\$450.000	\$31,500.00	-40.0%
4040116	HOUR	APPLY BITUMINOUS TACK C	OAT			
Bid Rank	Department E	Estimate	150.000	\$250.000	\$37,500.00	
1	ASPHALT PA	VING & SUPPLY, INC.		\$115.000	\$17,250.00	-54.0%
2	FANN CONTI	RACTING, INC		\$250.000	\$37,500.00	+0.0%
3	FNF CONST	RUCTION, INC.		\$215.000	\$32,250.00	-14.0%
4	PAVECO, INC	D		\$350.000	\$52,500.00	+40.0%
4040230	TON	ASPHALT BINDER ( (PG 70-2	8 PM)			
Bid Rank	Department E	Estimate	1,787.000	\$850.000	\$1,518,950.00	
1	ASPHALT PA	VING & SUPPLY, INC.		\$710.000	\$1,268,770.00	-16.5%
2	FANN CONTI	RACTING, INC		\$680.000	\$1,215,160.00	-20.0%
3		RUCTION, INC.		\$850.000	\$1,518,950.00	+0.0%
4	PAVECO, INC	D		\$850.000	\$1,518,950.00	+0.0%
4090006	TON	ASPHALTIC CONCRETE (MIS	CELLANEOUS STRUCTURAL	) (SPECIAL MIX)		
Bid Rank	Department E	stimate	450.000	\$300.000	\$135,000.00	
1	ASPHALT PA	VING & SUPPLY, INC.		\$170.000	\$76,500.00	-43.3%
2		RACTING, INC		\$245.000	\$110,250.00	-18.3%
3	FNF CONST	RUCTION, INC.		\$182.500	\$82,125.00	-39.2%
4	PAVECO, INC	D		\$175.000	\$78,750.00	-41.7%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2	2, VERT.PANEL, TUBULAR MAI	RKER)		
Bid Rank	Department E	Estimate	14,390.000	\$0.350	\$5,036.50	
1	ASPHALT PA	VING & SUPPLY, INC.		\$0.600	\$8,634.00	+71.4%

# Printed: 8/25/2025 Page 3 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

Item Number	Unit of Measure Item D	escription	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
7016030	EACH-DAY BARF	RICADE (TYPE 1, TYPE 2	VERT.PANEL, TUBULAR MAF	RKER)			_
Bid Rank	Department Estimate		14,390.000	\$0.350	\$5,036.50		
2	FANN CONTRACTIN	IG, INC		\$0.250	\$3,597.50	-28.6%	
3	FNF CONSTRUCTION	N, INC.		\$0.300	\$4,317.00	-14.3%	
4	PAVECO, INC.			\$1.000	\$14,390.00	+185.7%	
7016031	EACH-DAY BARF	RICADE (TYPE 3, HIGH LI	EVEL FLAG TREE)				
Bid Rank	Department Estimate		69.000	\$2.000	\$138.00		
1	ASPHALT PAVING &	SUPPLY, INC.		\$1.800	\$124.20	-10.0%	
2	FANN CONTRACTIN	IG, INC		\$0.850	\$58.65	-57.5%	
3	FNF CONSTRUCTION	N, INC.		\$0.800	\$55.20	-60.0%	
4	PAVECO, INC.			\$3.000	\$207.00	+50.0%	
7016032	EACH-DAY PORT	ABLE SIGN STAND (RIG	ID)				
Bid Rank	Department Estimate		336.000	\$1.500	\$504.00		
1	ASPHALT PAVING &	SUPPLY, INC.		\$0.800	\$268.80	-46.7%	
2	FANN CONTRACTIN	IG, INC		\$0.600	\$201.60	-60.0%	
3	FNF CONSTRUCTION	N, INC.		\$0.700	\$235.20	-53.3%	
4	PAVECO, INC.			\$3.000	\$1,008.00	+100.0%	
7016033	EACH-DAY PORT	ABLE SIGN STAND (SPF	RING TYPE)				
Bid Rank	Department Estimate		1,343.000	\$2.000	\$2,686.00		
1	ASPHALT PAVING &	SUPPLY, INC.		\$3.000	\$4,029.00	+50.0%	
2	FANN CONTRACTIN	IG, INC		\$1.000	\$1,343.00	-50.0%	
3	FNF CONSTRUCTION	N, INC.		\$0.850	\$1,141.55	-57.5%	
4	PAVECO, INC.			\$3.000	\$4,029.00	+50.0%	
7016035	EACH-DAY WAR	NING LIGHT (TYPE A)					
Bid Rank	Department Estimate		3,085.000	\$0.500	\$1,542.50		
1	ASPHALT PAVING &	SUPPLY, INC.		\$0.240	\$740.40	-52.0%	
2	FANN CONTRACTIN	IG, INC		\$0.150	\$462.75	-70.0%	
3	FNF CONSTRUCTION	N, INC.		\$0.200	\$617.00	-60.0%	
4	PAVECO, INC.			\$1.000	\$3,085.00	+100.0%	
7016037	EACH-DAY WARI	NING LIGHT (TYPE C)					
Bid Rank	Department Estimate		3,306.000	\$0.500	\$1,653.00		
1	ASPHALT PAVING &	SUPPLY, INC.		\$0.240	\$793.44	-52.0%	
2	FANN CONTRACTIN	IG, INC		\$0.150	\$495.90	-70.0%	
3	FNF CONSTRUCTION	N, INC.		\$0.200	\$661.20	-60.0%	
4	PAVECO, INC.			\$1.000	\$3,306.00	+100.0%	
7016039	EACH-DAY EMBE	EDDED SIGN POST					
Bid Rank	Department Estimate		2,548.000	\$2.000	\$5,096.00		
1	ASPHALT PAVING &	SUPPLY, INC.		\$1.400	\$3,567.20	-30.0%	
2	FANN CONTRACTIN	G, INC		\$1.700	\$4,331.60	-15.0%	

# Printed: 8/25/2025 Page 4 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016039	EACH-DAY EMBEDDED SIGN POST				
Bid Rank	Department Estimate	2,548.000	\$2.000	\$5,096.00	
3	FNF CONSTRUCTION, INC.		\$0.250	\$637.00	-87.5%
4	PAVECO, INC.		\$1.000	\$2,548.00	-50.0%
7016050	EACH-DAY TRUCK-MOUNTED ATTENUATO	)R			
Bid Rank	Department Estimate	83.000	\$700.000	\$58,100.00	
1	ASPHALT PAVING & SUPPLY, INC.		\$310.000	\$25,730.00	-55.7%
2	FANN CONTRACTING, INC		\$600.000	\$49,800.00	-14.3%
3	FNF CONSTRUCTION, INC.		\$440.000	\$36,520.00	-37.1%
4	PAVECO, INC.		\$400.000	\$33,200.00	-42.9%
7016051	EACH-DAY TEMPORARY SIGN (LESS THA	N 10 S.F.)			
Bid Rank	Department Estimate	306.000	\$1.000	\$306.00	
1	ASPHALT PAVING & SUPPLY, INC.		\$0.700	\$214.20	-30.0%
2	FANN CONTRACTING, INC		\$0.700	\$214.20	-30.0%
3	FNF CONSTRUCTION, INC.		\$0.600	\$183.60	-40.0%
4	PAVECO, INC.		\$1.000	\$306.00	+0.0%
7016052	EACH-DAY TEMPORARY SIGN (10 S.F. OR	MORE)			
Bid Rank	Department Estimate	27,770.000	\$1.000	\$27,770.00	
1	ASPHALT PAVING & SUPPLY, INC.		\$0.800	\$22,216.00	-20.0%
2	FANN CONTRACTING, INC		\$0.850	\$23,604.50	-15.0%
3	FNF CONSTRUCTION, INC.		\$0.650	\$18,050.50	-35.0%
4	PAVECO, INC.		\$1.000	\$27,770.00	+0.0%
7016061	EACH-DAY FLASHING ARROW PANEL				
Bid Rank	Department Estimate	60.000	\$50.000	\$3,000.00	
1	ASPHALT PAVING & SUPPLY, INC.		\$30.000	\$1,800.00	-40.0%
2	FANN CONTRACTING, INC		\$23.000	\$1,380.00	-54.0%
3	FNF CONSTRUCTION, INC.		\$19.000	\$1,140.00	-62.0%
4	PAVECO, INC.		\$55.000	\$3,300.00	+10.0%
7016067	EACH-DAY CHANGEABLE MESSAGE BOA	RD (CONTRACTOR FURNIS	HED)		
Bid Rank	Department Estimate	511.000	\$55.000	\$28,105.00	
1	ASPHALT PAVING & SUPPLY, INC.		\$78.000	\$39,858.00	+41.8%
2	FANN CONTRACTING, INC		\$40.000	\$20,440.00	-27.3%
3	FNF CONSTRUCTION, INC.		\$25.000	\$12,775.00	-54.5%
4	PAVECO, INC.		\$75.000	\$38,325.00	+36.4%
7016075	HOUR FLAGGING SERVICES (CIVILIA	N)			
Bid Rank	Department Estimate	184.000	\$70.000	\$12,880.00	
1	ASPHALT PAVING & SUPPLY, INC.		\$58.000	\$10,672.00	-17.1%
2	FANN CONTRACTING, INC		\$65.000	\$11,960.00	-7.1%
3	FNF CONSTRUCTION, INC.		\$50.000	\$9,200.00	-28.6%

# Printed: 8/25/2025 Page 5 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016075	HOUR	FLAGGING SERVICES (CIVILIA	N)			
Bid Rank	Department	t Estimate	184.000	\$70.000	\$12,880.00	
4	PAVECO, II	NC.		\$60.000	\$11,040.00	-14.3%
7016079	HOUR	FLAGGING SERVICES (UNIFO	RMED OFFICER)			
Bid Rank	Department	t Estimate	830.000	\$110.000	\$91,300.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$110.000	\$91,300.00	+0.0%
2	FANN CON	TRACTING, INC		\$100.000	\$83,000.00	-9.1%
3	FNF CONS	TRUCTION, INC.		\$100.000	\$83,000.00	-9.1%
4	PAVECO, II	NC.		\$100.000	\$83,000.00	-9.1%
7017030	EACH-DAY	SEQUENTIAL FLASHING WARI	NING LIGHT			
Bid Rank	Department	t Estimate	3,220.000	\$2.500	\$8,050.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$0.900	\$2,898.00	-64.0%
2	FANN CON	TRACTING, INC		\$0.200	\$644.00	-92.0%
3	FNF CONS	TRUCTION, INC.		\$0.900	\$2,898.00	-64.0%
4	PAVECO, II	NC.		\$1.250	\$4,025.00	-50.0%
7040005	L.FT.	PAVEMENT MARKING (WHITE	EXTRUDED THERMOPLAST	TC) (0.090")		
Bid Rank	Department	t Estimate	66,765.000	\$0.800	\$53,412.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$0.500	\$33,382.50	-37.5%
2	FANN CONTRACTING, INC			\$0.450	\$30,044.25	-43.8%
3	FNF CONS	TRUCTION, INC.		\$0.500	\$33,382.50	-37.5%
4	PAVECO, II	NC.		\$0.550	\$36,720.75	-31.3%
7040006	L.FT.	PAVEMENT MARKING (YELLO)	W EXTRUDED THERMOPLAS	STIC) (0.090")		
Bid Rank	Department	t Estimate	7,237.000	\$1.500	\$10,855.50	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$0.500	\$3,618.50	-66.7%
2	FANN CON	TRACTING, INC		\$0.450	\$3,256.65	-70.0%
3	FNF CONS	TRUCTION, INC.		\$0.500	\$3,618.50	-66.7%
4	PAVECO, II	NC.		\$0.550	\$3,980.35	-63.3%
7050067	EACH	PAVEMENT MARKING, PREFO	RMED, SYMBOL, TYPE IV			
Bid Rank	Department	t Estimate	4.000	\$300.000	\$1,200.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$230.000	\$920.00	-23.3%
2	FANN CON	TRACTING, INC		\$400.000	\$1,600.00	+33.3%
3	FNF CONS	TRUCTION, INC.		\$200.000	\$800.00	-33.3%
4	PAVECO, II	NC.		\$175.000	\$700.00	-41.7%
7060013	EACH	PAVEMENT MARKER, RAISED,	TYPE C			
Bid Rank	Department	t Estimate	2,693.000	\$3.000	\$8,079.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$3.300	\$8,886.90	+10.0%
2	FANN CON	TRACTING, INC		\$3.500	\$9,425.50	+16.7%
3	FNF CONS	TRUCTION, INC.		\$2.800	\$7,540.40	-6.7%

# Printed: 8/25/2025 Page 6 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7060013	EACH	PAVEMENT MARKER, RAIS	ED, TYPE C			
Bid Rank	Department	t Estimate	2,693.000	\$3.000	\$8,079.00	
4	PAVECO, IN	NC.		\$3.000	\$8,079.00	+0.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVI	EMENT MARKING (PAINTED) (	WHITE)		
Bid Rank	Department	t Estimate	44,510.000	\$0.500	\$22,255.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$0.180	\$8,011.80	-64.0%
2	FANN CON	TRACTING, INC		\$0.150	\$6,676.50	-70.0%
3	FNF CONS	TRUCTION, INC.		\$0.160	\$7,121.60	-68.0%
4	PAVECO, IN	NC.		\$0.250	\$11,127.50	-50.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVI	EMENT MARKING (PAINTED) (	YELLOW)		
Bid Rank	Department	t Estimate	4,825.000	\$0.500	\$2,412.50	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$0.180	\$868.50	-64.0%
2	FANN CON	TRACTING, INC		\$0.150	\$723.75	-70.0%
3	FNF CONS	TRUCTION, INC.		\$0.160	\$772.00	-68.0%
4	PAVECO, IN	NC.		\$0.250	\$1,206.25	-50.0%
7080206	EACH	WATERBORNE-TYPE I PAVI	EMENT MARKING (PAINTED S	YMBOL) (ARROW)		
Bid Rank	Department	t Estimate	4.000	\$150.000	\$600.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$71.500	\$286.00	-52.3%
2	FANN CON	TRACTING, INC		\$80.000	\$320.00	-46.7%
3	FNF CONS	TRUCTION, INC.		\$60.000	\$240.00	-60.0%
4	PAVECO, IN	NC.		\$75.000	\$300.00	-50.0%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department	t Estimate	2.000	\$10,000.000	\$20,000.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$10,000.000	\$20,000.00	+0.0%
2	FANN CON	TRACTING, INC		\$9,500.000	\$19,000.00	-5.0%
3	FNF CONS	TRUCTION, INC.		\$7,450.000	\$14,900.00	-25.5%
4	PAVECO, IN	NC.		\$7,600.000	\$15,200.00	-24.0%
8101021	L.FT.	EROSION CONTROL (WATT	LES) (9")			
Bid Rank	Department	t Estimate	1,340.000	\$5.000	\$6,700.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$4.700	\$6,298.00	-6.0%
2	FANN CON	TRACTING, INC		\$4.000	\$5,360.00	-20.0%
3	FNF CONS	TRUCTION, INC.		\$4.000	\$5,360.00	-20.0%
4	PAVECO, IN	NC.		\$5.000	\$6,700.00	+0.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	t Estimate	1.000	\$690,000.000	\$690,000.00	
4		DAVING & CLIDDLY ING		\$645,911.000	\$645,911.00	-6.4%
1	ASPHALT F	PAVING & SUPPLY, INC.		φ0 <del>4</del> 3,911.000	Ψ045,511.00	-U. <del>T</del> /U
2		TRACTING, INC.		\$805,063.450	\$805,063.45	+16.7%

# Printed: 8/25/2025 Page 7 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9010001	L.SUM	MOBILIZATION				
Bid Rank	Departmen	t Estimate	1.000	\$690,000.000	\$690,000.00	
4	PAVECO, II	NC.		\$900,000.000	\$900,000.00	+30.4%
9050009	EACH	GUARD RAIL, SPECIAL (RECONSTRU	CT RUBRAIL)			
Bid Rank	Departmen	t Estimate	12.000	\$2,000.000	\$24,000.00	
1	ASPHALT I	PAVING & SUPPLY, INC.		\$900.000	\$10,800.00	-55.0%
2	FANN CON	ITRACTING, INC		\$850.000	\$10,200.00	-57.5%
3	FNF CONS	TRUCTION, INC.		\$765.000	\$9,180.00	-61.8%
4	PAVECO, II	NC.		\$850.000	\$10,200.00	-57.5%
9050023	EACH	GUARD RAIL TERMINAL				
Bid Rank	Departmen	t Estimate	4.000	\$7,500.000	\$30,000.00	
1	ASPHALT I	PAVING & SUPPLY, INC.		\$7,100.000	\$28,400.00	-5.3%
2	FANN CON	ITRACTING, INC		\$6,700.000	\$26,800.00	-10.7%
3	FNF CONS	STRUCTION, INC.		\$6,100.000	\$24,400.00	-18.7%
4	PAVECO, II	NC.		\$6,500.000	\$26,000.00	-13.3%
9240130	EACH/DAY	MISCELLANEOUS WORK (PORTABLE	SPEED MONITOR	AND RECORDING)		
Bid Rank	Departmen	t Estimate	72.000	\$40.000	\$2,880.00	
1	ASPHALT I	PAVING & SUPPLY, INC.		\$89.000	\$6,408.00	+122.5%
2	FANN CON	ITRACTING, INC		\$140.000	\$10,080.00	+250.0%
3	FNF CONS	STRUCTION, INC.		\$82.500	\$5,940.00	+106.3%
4	PAVECO, II	NC.		\$275.000	\$19,800.00	+587.5%
9240140	TON	MISCELLANEOUS WORK (STONE MA	TRIX ASPHALTIC C	CONCRETE)		
Bid Rank	Departmen		29,768.000	\$105.000	\$3,125,640.00	
1	ASPHALT I	PAVING & SUPPLY, INC.		\$112.000	\$3,334,016.00	+6.7%
2	FANN CON	ITRACTING, INC		\$108.000	\$3,214,944.00	+2.9%
3	FNF CONS	STRUCTION, INC.		\$132.000	\$3,929,376.00	+25.7%
4	PAVECO, II	NC.		\$135.000	\$4,018,680.00	+28.6%
9240141	TON	MISCELLANEOUS WORK (STABILIZIN	G ADDITIVE)			
Bid Rank	Departmen	t Estimate	120.000	\$1,400.000	\$168,000.00	
1	ASPHALT I	PAVING & SUPPLY, INC.		\$100.000	\$12,000.00	-92.9%
2	FANN CON	ITRACTING, INC		\$1,300.000	\$156,000.00	-7.1%
3	FNF CONS	TRUCTION, INC.		\$1,550.000	\$186,000.00	+10.7%
4	PAVECO, II	•		\$1,700.000	\$204,000.00	+21.4%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Departmen		1.000	\$100,000.000	\$100,000.00	
1	•	PAVING & SUPPLY, INC.		\$140,000.000	\$140,000.00	+40.0%
2		ITRACTING, INC		\$110,000.000	\$110,000.00	+10.0%
3		STRUCTION, INC.		\$170,000.000	\$170,000.00	+70.0%
· ·				ψ110,000.000	ψ 1.10,000.00	. 7 0.0 70

# Printed: 8/25/2025 Page 8 of 8 \*\*\* Bid Tabs for Proposal Pamphlet 2025043 \*\*\*

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CO	ONTROL			
Bid Rank	Department	t Estimate	1.000	\$100,000.000	\$100,000.00	
4	PAVECO, II	NC.		\$655,000.000	\$655,000.00	+555.0%
9240181	SQ.YD.	MISCELLANEOUS WORK (C	CONTROL OF NOXIOUS PLAN	TS)(MANUAL / MECH	HANICAL METHOD)	
Bid Rank	Department	Estimate	2,200.000	\$2.000	\$4,400.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$1.200	\$2,640.00	-40.0%
2	FANN CON	TRACTING, INC		\$5.000	\$11,000.00	+150.0%
3	FNF CONS	TRUCTION, INC.		\$1.200	\$2,640.00	-40.0%
4	PAVECO, II	NC.		\$1.250	\$2,750.00	-37.5%
9240182	SQ.YD.	MISCELLANEOUS WORK (C	CONTROL OF NOXIOUSPLANT	rs)(HERBICIDE)		
Bid Rank	Department	t Estimate	2,700.000	\$2.000	\$5,400.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$1.100	\$2,970.00	-45.0%
2	FANN CON	TRACTING, INC		\$2.500	\$6,750.00	+25.0%
3	FNF CONS	TRUCTION, INC.		\$1.050	\$2,835.00	-47.5%
4	PAVECO, II	NC.		\$1.100	\$2,970.00	-45.0%
9250001	L.SUM	CONSTRUCTION SURVEYING	NG AND LAYOUT			
Bid Rank	Department	t Estimate	1.000	\$150,000.000	\$150,000.00	
1	ASPHALT F	PAVING & SUPPLY, INC.		\$55,000.000	\$55,000.00	-63.3%
2	FANN CON	TRACTING, INC		\$32,000.000	\$32,000.00	-78.7%
3	FNF CONS	TRUCTION, INC.		\$100,000.000	\$100,000.00	-33.3%
4	PAVECO, II	NC.		\$650,000.000	\$650,000.00	+333.3%